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And nine are not tithed — 17191 OTMIWY 2 IND YR

OVERVIEW

»aX maintained that the Xn>>72 of "1 NIP*00:7 is discussing a case where the
X had nine sheep and one i o 179 poo. Therefore (even if we
maintain 17°2 1R XXM X 3"N) he should be wyn, for w1 7nn he will not
be 175 5w Mnn2 1nn . If the poo belongs to the P& W, then it is a proper
qwyn, and if it belongs to the 3712, then the Y% w° owns only nine sheep, and
there is no "wvn 211 for nine sheep. The P90 is not W the PR for he
never had a 2117 to give Twyn. Our MdOIN explains when we combine flocks
that have less than ten sheep and when not.

mMdoIN responds to an anticipated difficulty:'
— N 2990 Y995 I INA N7 NN zrmb 1998Y 1998 PPNT

For it is not necessary to combine them with a different flock since they

never were certainly obligated to be tithed -
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And it is only where initially there were ten sheep that it becomes
necessary to combine them with a different flock.

SUMMARY

If there were ten sheep or more initially then the remainder must be
combined IR 1712; however if initially there were less than ten then there is
no Wwyn 11 at all.

THINKING IT OVER
Why could not n101n answer that we are discussing a case where he has no
nX 173 and therefore the nine sheep are >y 72 189?21

" There is a rule that if the farmer had more than ten sheep and he gave Twyn, but since there was not an
exact multiple of ten, he remained with less than ten sheep; he is then obligated to combine this small flock
with another flock so that all his sheep will go through the 7wyn process. This indicates that even less than
ten sheep have to be tithed (through 717°%), so how does *»ax state that X177 >y 72 WY nvwn?!

? The word 70 means a threshing place for grain; it is used here as a borrowed terminology, that just as
grain is MIWyna 211 after the 1713, so too there are times in the year which are called 17 when 172 qwyn
takes place. See 121 nina WYL M- 3,71 MM122 73wn and 170 77207 — N,M1..

? It is possible that the 7mam qvd 11772 50 belongs to the j72. The 2X7w> then has only nine sheep.

* In this case there was a Wyn arn °XT), therefore in case one of the sheep died or was lost before wyn was
performed; the remaining sheep have to be combined with another flock.

> See vd MR 710,
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